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1(z), p2(z),..., +1(z) -

A(z)=(a1(z), a2(z), ...,ak+1(z)) -
k+i(z),

k+i(z)=0, 
 -  [1,2].

-
A(z) = (a1 (z),

a2(z), ...,ak+l(z)) -

A(z) = (a1(z), a2(z), ...,ak+l(z)) =

1k

1i ai(z)Bi(z)modP (z). (1)
, A(z) , . A(z) Ppa6(z),

A(z) = (a1(z), a2(z), ...,ak(z)) =

k

1j aj(z)Bj
*(z)modP (z) (2)

 Bj
*(z) - .

(a1(z), a2(z), ...,ak+l(z))= (a1(z), a2(z), ...,ak(z)) (3)
1(z), p2(z),..., pk(z) pk+1(z),

|a1(z)B1
*(z)| +

(z)=(a1(z),0,0,…,0, y1
k+1(z))=A1(z);

|a1(z)B1
*(z)| +

(z)=(0, a2(z),0,…,0, y2
k+1(z))=A2(z);  (4)

…
|ak(z)Bk

*(z)| +
(z)=(0, 0,0,…,ak(z), yk

k+1(z))=Ak(z);

, , -
. Sk+1(z) A(z)

A(z) m

A(z)-

k

1i A1(z) = yk+1(z) (5)
,  (3) -

, -

yk+1(z)
.

A(z) ,
 (2)  (3) , -

yk+1(z) = 0.

, i
, i = 1,2,..., +1. ,

i= +1. A*(z) = (a1(z),a2(z),...,a*
k+I(z)).

, -
Ai(z), i=1,2, ...,k, -

k

1i  yi
k+1(z)mod p k+1(z)= ak+I(z).

-
, a*

k+I(z)
ak+I(z)

, -
yk+1(z) 0.

-
p i(z), i = 1,2,..., .

A*(z) = (a1(z),…,a*
i(z),...,ak+I(z)). -

, ai(z) 
a*

i(z)  (5)

Ai(z)  Ai
*(z).

i
k+1(z) *

k+1(z). , yk+1(z) 0.
A*(z) .
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l(z)= yk+1(z)=[ ai(z)mi(z) k+1(z) /pi(z)]modpk+1(z). (6)
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